TR’ EEEERREMIRE=42) T - Ay 1 0B GEHIRAE) R
(FR27FE10A8H ~FR27E12H8HE k)

[RF A KER M R (REHRYD)
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No. | *|  wlrst A A mEAR | oS # £
5 (8] GOIE
1 1-1 AXEM TR 11A108 0.32
2 1-5 AEW |TRRQ2) 11A108 0.28
3 1-6 AEM TR 11A108 0.20
4 1-7 AXEW |TERG4) 11A108 0.27
5 1-8 AEM |TER() 11A108 0.29
6 2-1 AEW |TER(6) 11A108 0.28
7 2-6 XEM |TERG) 11A108 0.29
8 2-7 AEW |TRIR() 11A108 0.32
9 2-8 AXEM |TER9) 11A108 0.28
10 2-9 AEM  |FERAO0) 118108 0.30
1 3-1 A=W |FBRAO1) 11A108 0.33
12 3-3 A= |FERO2) 11A108 0.26
13 3-4 A=W  |FBRO3) 11A108 0.30
14 3-5 A= |FERRO14) 11A108 0.23
15 3-6 A=W |FERO5) 11A108 0.17
16 3-7 A= |fER(16) 11A108 0.28
17 3-8 A=W |BRO7) 11A108 0.28
18 3-9 A= |FEIRO8) 11A108 0.34
19 3-10 A=W  |FBRO9) 11A108 0.37
20 4-1 A= |fEIR(20) 11A108 0.24
21 4-3 A=W |FER@21) 11A108 0.50
22 4-4 A= |fER(22) 11A108 0.41
23 4-5 A=W  |TER23) 11A108 0.24
24 4-9 A= |fER(24) 11A108 0.35
25 5-1 A=W |FER(25) 11A108 0.28
26 5-2 A= |fEiR(26) 11A108 0.43
27 5-3 A=W  |FERQ7) 11A108 0.24
28 5-4 A= |fEIR(28) 11A108 0.20
29 5-5 AEM  |FER(29) 11A108 0.32
30 5-9 A= |F#ER(30) 11A108 0.38
31 6-2 A= |FER(EG1) 11A108 0.22
32 6-4 A= |#EIR(32) 11A108 0.27
33 6-5 A=W |FER(33) 11A108 0.27
34 6-9 A= |FEIR(34) 11A108 0.37
35 7-1 AEM  |FER(35) 11A108 0.37
36 7-3 A= |fER(36) 11A108 0.39
37 7-4 A=W |FER@7) 11A108 0.29
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38 7-5 A=W |FER(38) 11A108 0.16
39 7-10 A= |#ER(39) 11A108 0.29
40 8-1 AEM  |TER40) 11A108 0.20
41 8-2 A= |FER@41) 11A108 0.33
42 8-3 AEM |TERG42) 11A108 0.23
43 8-5 A= |FEIR43) 11A108 0.18
44 8-9 AEM  |TER44) 11A108 0.37
45 9-1 A= |FEIR(45) 11A108 0.22
46 9-2 A=W  |TER46) 11A108 0.22
47 9-4 A= |FEIR@47) 11A108 0.21
48 9-5 A=W  |TER48) 11A108 0.15
49 10-1 A= |FEIR(49) 11A108 0.24
50 10-3 A=W  |FER(B0) 11A108 0.36
51 10-4 AEM |FER(GI) 118108 0.21
52 10-5 AEM |TER(B2) 11A108 0.39
53 10-6 A= |FEIR(53) 11A108 0.28
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